Single digit division, with remainder (I-1,000)

Find the quotient with remainder.

(1)894+7= A1) 949+6=
(2) 611 8= 12) 236+7=
(3) 578 +1= 13) 294+3=
(4) 500+ 2= 381 + 3=
(5) 573+ 8= 15 818+4=
(6)43+5= 153 + 2=
(7)510+3= A7) 758+7=
(8) 835+9= 120 +1 =
(9)14+9= 367 + 6=

10) 246 + 3 = 179 +1=
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Single digit division, with remainder (I-1,000)

Answer Key

(1)894+7=Q:127R: 5 949 +6=Q: 158 R: 1

®

(2)611+8=Q: 76 R: 3 12) 236+7=Q:33R:5
(3)578+1=Q: 578 R: 0 13) 294+3=Q:98R:0
(4) 500 +2=Q: 250 R: 0 381+3=Q:127R: 0
(5)573+8=Q: 71R: 5 (15 818+4=Q:204R:2
(6)43+5=Q:8R: 3 153 +2=Q: 76 R: 1
(7)510+3=Q: 170 R: 0 A7) 758+7=Q:108R: 2
(8) 835+9=Q:92R: 7 120+1=Q:120R: 0
(9)14+9=Q:1R:5 367+6=Q:61R:1

(10) 246 +3=Q: 82R: 0 179 +1=Q: 179 R: 0
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Single digit division, with remainder (I-1,000)

Find the quotient with remainder.

(1)961+5= G7) 719+6=
(2) 488+ 7= 42 892+5=
(3) 397+2= 13) 486+6=
(4) 451 +9= 208 +9 =
(5)67+6= @5 717+9=
(6) 356 +9 = 669 + 5 =
(7)979+6= 17) 680+3=
(8) 489 + 6= 956 + 4 =
(9) 499 = 6 = 683+ 7=

10) 965 + 8 = 280 + 1=
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Single digit division, with remainder (I-1,000)

Answer Key

(1) 961 +5=Q: 192 R: 1 719+6=Q:119R:5

®

(2)488+7=Q:69R: 5 12) 892+5=Q:178R:2
(3) 397+2=Q: 198 R: 1 (13) 486+6=Q:81R:0
(4) 451 +9=Q: 50 R: 1 208 +9=Q: 23 R: 1
(5)67+6=Q:11R: 1 15 717+9=Q:79R:6
(6) 356 +9=Q: 39 R: 5 669 + 5=Q: 133 R: 4
(7)979+6=Q: 163 R: 1 (17) 680+3=Q:226R:2
(8) 489+ 6=Q:81R: 3 956 +4=Q: 239 R: 0
(9) 499 +6=Q: 83 R: 1 683+ 7=Q:97R: 4

(10) 965+8=Q: 120 R: 5 280 +1=Q:280R: 0
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